e K KB R AT CPAK2 142 ) No. 1

X i‘jZ i X it

HE 5 = B IE N+ FE & W
HOH X 57\ i | n i Py | n i FHy | n &1 FHy | n
E p H 7.3 ~ 74 74 | 2 7.0 7.0 | 2 8.7 ~ 8.9 8.8 | 2 7.6 ~ 7.9 7.8 | 2
Vﬁ D O 1.4 ~ 1.6 1.5 |2 3.7 ~ 3.9 3.8 |2 10 ~ 16 13 |2 6.0 ~ 8.3 7.2 | 2
?;é COD 8.2 ~ 10 9.1 | 2| 6.0 ~6.6 6.3 | 2 15 ~ 22 19 |2 4.8 ~ 7.4 6.1 | 2
16 S S 10 ~ 12 11 |2 4 ~ 13 9 2 22 ~ 26 24 | 2 1~6 4 2
H h-~¥ g <0.5 * 1 <0.5 * 1 0.5 * 1 <0.5 * 1
T ND * 1 ND * 1 ND % 1 ND % 1
TV L IKER ND * 1 ND * 1 ND * 1 ND * 1
TR L <0.001 s 1 <0.001 s 1 <0.001 * 1 <0.001 * 1
i) <0.005 s 1 <0.005 s 1 <0.005 * 1 <0.005 * 1
(PN 2=gN <0.005 s 1 <0.005 s 1 <0.005 * 1 <0.005 * 1
% fitk>& <0.001 * 1 <0.001 * 1 <0.001 * 1 <0.001 * 1
5 TRk ER <0.0005 s 1 <0.0005 s 1 <0.0005 * 1 <0.0005 * 1
L <0.002 s 1 <0.002 s 1 <0.002 * 1 <0.002 * 1
warespommsess| 0.2 ~ 1.1 [ 0.65 | 2 [ 0.02 ~0.13 0.08 | 2| 0.0l ~0.22 |0.12 | 2| 0.15~0.48 | 0.32 | 2
BN 0.2 * 1 0.3 * 1 0.6 * 1 0.3 * 1
EQES 0.3 % 1 0.5 % 1 1.5 * 1 0.2 % 1
ki <0.002 s 1 <0.002 » 1 <0.002 * 1 <0.002 * 1
o ik 0.018 s 1 0.018 » 1 0.021 * 1 0.009 * 1
B T fR gk 0.19 s 1 0.04 » 1 0.12 * 1 0.15 * 1
H | pRE~ A 0.24 x |1 0.28 x |1 0.21 x |1 0.064 x| 1
H VA=A <0.005 s 1 <0.005 s 1 <0.005 s 1 <0.005 * 1
= /)—)VIE <0.02 s 1 <0.02 s 1 <0.02 s 1 <0.02 * 1
N Bl TE 0.070 ~ 0.085[0.078 | 2 | 0.006 ~ 0.007 |0.007 | 2 | 0.29 ~ 0.30 | 0.30 | 2 | 0.027 ~ 0.03 |0.029 | 2
% TUESTREREFHR | 0.72 ~0.95 | 0.84 | 2 0.2 ~0.29 |0.25 | 2]<0.01l ~0.14 | 0.07 | 2| <0.0l ~0.17 | 0.09 | 2
i | HERREEER 0.12 ~0.93 [ 0.53 | 2| 0.01 ~0.1 0.06 | 2| 0.0l ~0.08 |0.05 |2 013~0.48 | 0.31 | 2
JAYRREZE % | 0.08 ~0.18 | 0.13 | 2| 0.01 ~ 0.03 0.02 | 2| <0.01 ~0.14 | 0.07 | 2 | <0.01 ~0.02 | 0.01 | 2

(F55) WA - pHERE, WX (me/0). NDIERILSILT,
5 TAIORILME 1> T BT [ ORI S5 LR,
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K Ik pli3 7K. Hi
P E A B E WA T

H A X #i | n Eie W) | n
& p H 7.9 ~ 8.2 8.1 |2 8.4 ~ 9.0 8.7 | 2
Vﬁ D O 5.0 ~ 7.9 6.5 | 2 8.9 ~ 10 9.5 | 2
?;é COD 6.8 ~ 16 11 |2 11 ~ 12 12 |2
If S S 10 ~ 14 12 |2 12 ~ 14 13 |2
H h-~¥ g <0.5 * 1 <0.5 * 1
ST ND s 1 ND s 1
TV L IKER ND * 1 ND * 1
TRIT A <0.001 1 1 <0.001 s 1
i) <0.005 * 1 <0.005 * 1
(PN 2=gN <0.005 x| 1 <0.005 x| 1
% fitk>& <0.001 * 1 0.001 * 1
[ KR <0.0005 E <0.0005 E
R <0.002 1 1 <0.002 s 1
e ommsE | <0.01 ~ 0.58 | 0.29 | 2 <0.01 <0.01 | 2
BN 0.5 * 1 0.5 * 1
EQES 0.9 % 1 1.2 % 1
&l <0.002 1 1 <0.002 . 1
o [ilkia 0.01 1 1 <0.002 . 1
I T fR gk 0.025 s 1 0.052 » 1
H | pRE~ A 0.17 x |1 0.091 x| 1
H =T <0.005 * |1 <0.005 |1
7x/)—VHR <0.02 * 1 <0.02 * 1
N BEmARE 0.11 ~0.15 [ 0.13 | 2| 0.015 ~0.15 |0.083 | 2
% TUESTRESEFE | 0.04 ~0.61 | 0.33 | 2 <0.01 <0.01] 2
b | PHAREEZER | <0.01 ~0.37 | 0.19 | 2 <0.01 <0.01| 2
TARAREZE R | <0.01 ~0.21 | 0.11 | 2 <0.01 <0.01| 2

(ii#) BN : pHEERZ ., BiA01E (mg/0), NDIZHEN T,

5 TAIORILME 1> T BT [ ORI S5 LR,




